

# A NOTE ON HORADAM'S SEQUENCE

**Pentti Haukkanen**

Dept. of Mathematics, Statistics and Philosophy, FIN-33014 University of Tampere, Tampere, Finland

e-mail: mapehau@uta.fi

(Submitted July 2000-Final Revision January 2002)

## 1. INTRODUCTION

Horadam's sequence  $\{w_n(a, b; p, q)\}$ , or briefly  $\{w_n\}$ , is defined by the recurrence relation  $w_0 = a, w_1 = b, w_n = pw_{n-1} - qw_{n-2}$  ( $n \geq 2$ ) (see, e.g., [1], [2], [3]). The sequence  $\{u_n(p, q)\}$ , or briefly  $\{u_n\}$ , is defined as  $u_n = w_n(1, p; p, q)$ , and the sequence  $\{v_n(p, q)\}$ , or briefly  $\{v_n\}$ , is defined as  $v_n = w_n(2, p; p, q)$ . The sequences  $\{u_n\}$  and  $\{v_n\}$ , respectively, are generalized Fibonacci and Lucas sequences.

In this note we study linear combinations of Horadam's sequences and the generating function of the ordinary product of two of Horadam's sequences. Similar results for the generalized Fibonacci sequence  $\{u_n\}$  are given by McCarthy and Sivaramakrishnan [4]. In [1], Horadam studied the generating function of powers of  $\{w_n\}$ . The main results are in Sections 2 and 3 below

## 2. LINEAR COMBINATIONS

Let  $p_1, p_2, \dots, p_k$  be distinct complex numbers and let  $w_n^{(j)} = w_n(a, b; p_j, q)$  and  $u_n^{(j)} = u_n(p_j, q)$  for  $j = 1, 2, \dots, k$ . McCarthy and Sivaramakrishnan show that the sequences  $\{u_n^{(j)}\}$  are linearly independent and that if  $u_n = c_1 u_n^{(1)} + c_2 u_n^{(2)} + \dots + c_k u_n^{(k)}$  for all  $n \geq 0$  then, for some  $h$  with  $1 \leq h \leq k$ , we have  $c_h = 1, c_j = 0$  for  $j \neq h$  and  $p = p_h$  (see Theorems 3 and 4 in [4]).

In this section we show that these results hold for the more general sequences  $\{w_n\}$  and  $\{w_n^{(j)}\}$ . In the proofs, we need the identities

$$w_n = a \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k \binom{n-k}{k} p^{n-2k} q^k + (b-pa) \sum_{k=0}^{\lfloor (n-1)/2 \rfloor} (-1)^k \binom{n-1-k}{k} p^{n-1-2k} q^k \quad (2.1)$$

(see eq. (1.7) in [3]) and

$$w_n = bu_{n-1} - qau_{n-2} \quad (2.2)$$

(see eq. (2.14) in [2]).

We now give the generalizations.

**Theorem 2.1:** Let  $a \neq 0$ . The sequences  $\{w_n^{(j)}\}$  are linearly independent.

**Proof:** Suppose that

$$\sum_{j=1}^k c_j w_n^{(j)} = 0 \text{ for } n \geq 0.$$

Then the first  $k$  of these equations form a system of  $k$  linear equations with  $c_1, c_2, \dots, c_k$  as unknowns. The matrix of coefficients is  $[w_i^{(j)}]$ ,  $i = 0, 1, \dots, k-1; j = 1, 2, \dots, k$ . The row with  $i = 0$  is  $a, a, \dots, a$ . The other rows can be obtained by equation (2.1). Thus, if  $i \geq 1$ , then by adding appropriate multiples of the rows  $0, 1, \dots, i-1$  to row  $i$ , the matrix can be transformed into one having  $2ap_1^i, 2ap_2^i, \dots, 2ap_k^i$  as its row  $i$ . Thus,

$$\det[w_i^{(j)}] = a(2a)^{k-1} \prod_{1 \leq i < j \leq k} (p_j - p_i) \neq 0,$$

and hence  $c_j = 0, j = 1, 2, \dots, k$ .  $\square$

**Theorem 2.2:** Let  $a, b \neq 0$ . If, for complex numbers  $c_1, c_2, \dots, c_k$ ,

$$\sum_{j=1}^k c_j w_n^{(j)} = w_n, \quad n \geq 0, \tag{2.3}$$

then for some  $h$  with  $1 \leq h \leq k$  we have  $c_h = 1, c_j = 0$  for  $j \neq h$  and  $p = p_h$ .

**Proof:** We prove that

$$\sum_{j=1}^k c_j u_n^{(j)} = u_n, \quad n \geq 0. \tag{2.4}$$

Assume that  $n = 0$ . Then  $\sum_{j=1}^k c_j w_0^{(j)} = w_0$  or  $\sum_{j=1}^k c_j a = a$ . Since  $a \neq 0$ , we have  $\sum_{j=1}^k c_j = 1$  or  $\sum_{j=1}^k c_j u_0^{(j)} = u_0$ . Thus, (2.4) holds for  $n = 0$ . Assume that (2.4) holds for  $n < m$ . Then, with the aid of (2.2) and the induction assumption,

$$\sum_{j=1}^k c_j w_{m+1}^{(j)} = b \sum_{j=1}^k c_j u_m^{(j)} - qa \sum_{j=1}^k c_j u_{m-1}^{(j)} = b \sum_{j=1}^k c_j u_m^{(j)} - qau_{m-1}.$$

On the other hand, with the aid of (2.3) and (2.2),

$$\sum_{j=1}^k c_j w_{m+1}^{(j)} = w_{m+1} = bu_m - qau_{m-1}.$$

Since  $b \neq 0$ , we see that (2.4) holds for  $n = m$ . This completes the proof of (2.4). Now, applying the result of McCarthy and Sivaramakrishnan [4] referred to at the beginning of this section to (2.4), we have  $c_h = 1, c_j = 0$  for  $j \neq h$  and  $p = p_h$  for some  $h$  with  $1 \leq h \leq k$ . This completes the proof of Theorem 2.2.  $\square$

**Remark 2.1:** Considering the sequence  $\{w_n/a\}, a \neq 0$ , and using the results of [4], it can be shown that Theorems 2.1 and 2.2 hold for the sequences  $\{w_n(a, p; p, q)\}$  and  $\{w_n(a, p_j; p_j, q)\}$ . Thus, Theorems 2.1 and 2.2 hold for the generalized Lucas sequence  $\{v_n\}$ .

### 3. GENERATING FUNCTIONS

Let the sequence  $\{w'_n(a', b'; p', q')\}$ , or briefly  $\{w'_n\}$ , be defined by the recurrence relation  $w'_0 = a', w'_1 = b', w'_n = p'w'_{n-1} - q'w'_{n-2} (n \geq 2)$ . In this section we evaluate the generating function of the ordinary product  $\{w_n w'_n\}$  of two of Horadam's sequences. For the sake of brevity, we denote  $W_2(x) = \sum_{n=0}^{\infty} w_n w'_n x^n$ . We thus evaluate  $W_2(x)$ . As special cases, we obtain the generating functions of  $\{u_n u'_n\}$  and  $\{w_n^2\}$  evaluated by McCarthy and Sivaramakrishnan [4] and by Horadam [1], respectively.

**Lemma 3.1:**

$$\sum_{n=0}^{\infty} w_{n+1} w'_n x^n = \frac{a'b - paa' + (p'qaa' - qab')x + (p - p'qx)W_2(x)}{1 - qq'x^2}.$$

**Proof:** It is clear that

$$\begin{aligned} (1 - qq'x^2) \sum_{n=0}^{\infty} w_{n+1}w'_n x^n &= \sum_{n=0}^{\infty} w_{n+1}w'_n x^n - qq' \sum_{n=0}^{\infty} w_{n+1}w'_n x^{n+2} \\ &= a'b + \sum_{n=1}^{\infty} (pw_n - qw_{n-1})w'_n x^n + q \sum_{n=0}^{\infty} w_{n+1}(w'_{n+2} - p'w'_{n+1})x^{n+2} \\ &= a'b + pW_2(x) - paa' - q \sum_{n=1}^{\infty} w_{n-1}w'_n x^n + q \sum_{n=2}^{\infty} w_{n-1}w'_n x^n - p'qx(W_2(x) - aa') \\ &= a'b - paa' - qab'x + p'qaa'x + pW_2(x) - p'qxW_2(x). \end{aligned}$$

The proof of Lemma 3.1 is complete.  $\square$

**Lemma 3.2:**

$$\sum_{n=0}^{\infty} w_n w'_{n+1} x^n = \frac{ab' - p'aa' + (pq'aa' - q'a'b)x + (p' - pq'x)W_2(x)}{1 - qq'x^2}.$$

Lemma 3.2 follows from Lemma 3.1 by replacing  $a, b, p,$  and  $q$  with  $a', b', p',$  and  $q'$ , respectively.

**Theorem 3.1:**

$$W_2(x) = \frac{A(x)}{1 - pp'x + [(p^2 - q)q' + (p'^2 - q')q]x^2 - pp'qq'x^3 + q^2q'^2x^4},$$

where

$$\begin{aligned} A(x) &= aa' + (bb' - aa'pp')x + (aa'p^2q' + aa'p'^2q - aa'qq' - ab'p'q - a'bpq')x^2 \\ &\quad + (ab'pqq' + a'bp'qq' - aa'pp'qq' - bb'qq')x^3. \end{aligned}$$

**Proof:** We have

$$\begin{aligned} W_2(x) &= \sum_{n=0}^{\infty} w_n w'_n x^n = aa' + bb'x + \sum_{n=2}^{\infty} (pw_{n-1} - qw_{n-2})(p'w'_{n-1} - q'w'_{n-2})x^n \\ &= aa' + bb'x + pp' \sum_{n=2}^{\infty} w_{n-1}w'_{n-1}x^n - pq' \sum_{n=2}^{\infty} w_{n-1}w'_{n-2}x^n \\ &\quad - p'q \sum_{n=2}^{\infty} w_{n-2}w'_{n-1}x^n + qq' \sum_{n=2}^{\infty} w_{n-2}w'_{n-2}x^n \\ &= aa' + bb'x + pp'x \left( \sum_{n=0}^{\infty} w_n w'_n x^n - aa' \right) - pq'x^2 \sum_{n=0}^{\infty} w_{n+1}w'_n x^n \\ &\quad - p'qx^2 \sum_{n=0}^{\infty} w_n w'_{n+1} x^n + qq'x^2 \sum_{n=0}^{\infty} w_n w'_n x^n. \end{aligned}$$

Applying Lemmas 3.1 and 3.2, we obtain

$$\begin{aligned} W_2(x) &= aa' + bb'x - aa'pp'x + pp'xW_2(x) - pq'x^2 \frac{a'b - paa' + p'qaa'x - qab'x + (p - p'qx)W_2(x)}{1 - qq'x^2} \\ &\quad - p'qx^2 \frac{ab' - p'aa' + pq'aa'x - q'a'bx + (p' - pq'x)W_2(x)}{1 - qq'x^2} + qq'x^2 W_2(x). \end{aligned}$$

Solving for  $W_2(x)$ , we get Theorem 3.1.  $\square$

**Corollary 3.1 [4]:**

$$\sum_{n=0}^{\infty} u_n u'_n x^n = \frac{1 - qq'x^2}{1 - pp'x + [(p^2 - q)q' + (p'^2 - q')q]x^2 - pp'qq'x^3 + q^2q'^2x^4}.$$

**Corollary 3.2:**

$$\sum_{n=0}^{\infty} v_n v'_n x^n = \frac{4 - 3pp'x + (2p^2q' + 2p'^2q - 4qq')x^2 - pp'qq'x^3}{1 - pp'x + [(p^2 - q)q' + (p'^2 - q')q]x^2 - pp'qq'x^3 + q^2q'^2x^4}.$$

**Corollary 3.3:**

$$\sum_{n=0}^{\infty} u_n v'_n x^n = \frac{2 - pp'x + (p'^2q - 2qq')x^2}{1 - pp'x + [(p^2 - q)q' + (p'^2 - q')q]x^2 - pp'qq'x^3 + q^2q'^2x^4}.$$

**Corollary 3.4 [1]:**

$$\sum_{n=0}^{\infty} w_n^2 x^n = \frac{a^2 + [b^2 - a^2(p^2 - q)]x + q(b - pa)^2 x^2}{(1 - qx)[1 - (p^2 - 2q)x + q^2 x^2]}.$$

**Corollary 3.5 [4]:**

$$\sum_{n=0}^{\infty} u_n^2 x^n = \frac{1 + qx}{(1 - qx)[1 - (p^2 - 2q)x + q^2 x^2]}.$$

**Corollary 3.6:**

$$\sum_{n=0}^{\infty} v_n^2 x^n = \frac{4 + (4q - 3p^2)x + p^2qx^2}{(1 - qx)[1 - (p^2 - 2q)x + q^2 x^2]}.$$

**ACKNOWLEDGMENT**

The author wishes to express his gratitude to an anonymous referee for some very helpful suggestions.

**REFERENCES**

1. A. F. Horadam. "Generating Functions for Powers of a Certain Generalized Sequence of Numbers." *Duke Math. J.* **32** (1965):437-46.
2. A. F. Horadam. "Basic Properties of a Certain Generalized Sequence of Numbers." *The Fibonacci Quarterly* **3.2** (1965):161-76.
3. A. F. Horadam. "Tschebyscheff and Other Functions Associated With the Sequence  $\{w_n(a, b; p, q)\}$ ." *The Fibonacci Quarterly* **7.1** (1969):14-22.
4. P. J. McCarthy & R. Sivaramakrishnan. "Generalized Fibonacci Sequences via Arithmetical Functions." *The Fibonacci Quarterly* **28.4** (1990):363-70.

AMS Classification Number: 11B37

